53. EXERCISES 89

5.3 Exercises

Find f +g, f — g, f - g for the functions below. State their domain.

\/a) f(z) = 2%+ 6z and g(x) =3z -5
Ub) f(z) =23+5 and g(z) =52* +7
VO f(@) =3z+7yz  and g(z) = 22" + 5\/x
) fla) = and g(x) = 3%,
e) flx) =vx—3 and g(z) =2z —3
f) f(z) =2*+2z+5 and g(z) =32 —6
q) f(z) =22+ 3z and g(z) =222+ 3z + 4

) f(x) =3z +6 and g(z) =22 —8
W) f(z) =z +2 and g(z) =2? —5x +4
") fa) = 25 and g(z) = =2

d) f(x) =+vz+6 and g(z) =2z +5

e) f(x) =2*>+8x —33 and g(z) ==

\Va) fg2)  Wb)g(f(2) k) F(F(5))
) F5g(=3)) &) g(f(2)—2) ) F(f(3)+9(3))
9) g(f2+2) h) f(f(=x)) D) F(F(=3) —3¢(2))
) IR K fa+h) ) gla+h)
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CHAPTER 5. OPERATIONS ON FUNCTIONS

Find the composition (f o g)(z) for the following functions:

Va) f(z) =3z -5

\/b) flz) =22 +2
Vc) f(z) =% -3z +2
d) f(x):x +vr+3
o) fla) = =
f) f(x)=2*+42+3

Find the compositions

and g(z) =2z + 3

and g(x) =z +3

and g(x) =2z +1

and g(r) = 22 + 2z

and g(z) =z +h
()

(fog)(@), (gof)(x), (folf)(x),
for the following functions:
\/a) flz)=2x+4 and g(z) =
) flz) =z +3 and g(z) =
o) flx)=22—2—6 and g(x) =
d) f(2) = 73 and g(z) =
e) f(x) =2 —7)*  andg(z) =

Let f and g be the functions defined by the table below. Complete the
table by performing the indicated operations.

| z [1[2 [3]4][5 [6]7]
f(x) 41 5 [ 710 —-2|6 |4
g(x) 6| —-8(5|2| 9 |11]2
f(z)+3
4g(x) +5

g(z) —2f(x)
flz+3)




53. EXERCISES

V

Let f and g be the functions defined by the table below. Complete the

table by composing the given functions.

= [[1]2]3]4]5]6]
f(x) 31112563
g(x) 51216124
(go f)(z)

(fog)(z)

(f o f)(z)

(gog)(x)

Let f and g be the functions defined by the table below. Complete the

table by composing the given functions.

| x [ 0]2]4] 6 | 8|10 12|
f(z) 4 1815 6 [12]=1]10
g() wl2lol-6] 7] 2138
(go )

(fog)(x)

(fo f)@)

(gog)(x)




